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All Candidates' performance across questions

Question Title Mean Max Mark Attempt %

1 443 3.7 0.7 4 91.3 99.8
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Examiner
[
You will be assessed on the quality of your written communication in this question. o

Two friends, Lisa and Neil, use the same recipe with six ingredients to make cheese scones for
different numbers of people.

e Lisa used 200g of flour, 1 teaspoon of mustard and 509 of butter along with the other
ingredients to make cheese scones for 10 people.

* Neil used 1 teaspoon of salt, 100g of cheese and 250 ml of milk along with the other
ingredients to make cheese scones for 20 people.

How much flour, mustard, butter, salt, cheese and milk are needed to make enough scones for
100 people?
You must show all your working. [6]
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Sticky Note
This candidate has received half marks for the mathematics, correctly answering flour, mustard and butter.  Unfortunately there is no sign of communicating at all in this answer and not all the units are there.







Sticky Note
A great example of a candidate gaining full marks for both the mathematics and the QWC.  This candidate has communicated clearly the steps needed and shown the units clearly.
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Examiner
only

(b) Find 121 of 242g. 2]
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Sticky Note
The candidate attempts to change the fraction into a decimal first.  During this process loses the accuracy because of premature approximation.







Sticky Note
The candidate attempts to change the fraction into a percentage first.  During this process they would have lost the accuracy because of premature approximation.  However, they then proceeded incorrectly!
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Examiner
only

(b) Calculate the area of the following triangle giving your answer in m2. [3]

60cm

110cm

Diagram not drawn to scale
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Sticky Note
Common error.
Candidates thinking that the area of a triangle is length x width.








Sticky Note
Candidate knew how to find the area of a triangle, but unfortunately, could not convert to m2
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Examiner
only

(b) Find the value of /634-1— 2-423. Write down your answer correct to 2 decimal places.
[2]
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Sticky Note
11.00 instead of 11.01 was a common error. Consequently they lost 1 mark.







Sticky Note
24.90 was a common error.  Candidates worked out 634.1-2.42 cubed and then square rooted the answer. Consequently candidates lost 2 marks.
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June 2014 Unit 2 Foundation Tier Mark Comments
5. Lisa’s ingredients x 10 M1 Or equivalent
Attempt at least one of the three ingredients
2000(g of flour) OR 2kg Al All 3 correct
10 (teaspoons of mustard)
500(g of butter)
Neil’s ingredients x 5 M1 Or equivalent
Attempt at least one of the three ingredients
5 (teaspoons of salt) Al All 3 correct
500(g of cheese)
1250(ml of milk) OR 1.25 I(itres)
Look for:
Correct use of Units
Labels
QWC2: Candidates will be expected to QWC | QWC2 Presents relevant material in a coherent
e present relevant work clearly, with 2 and logical manner, using
words explaining process or steps acceptable mathematical form, and with few if
AND any errors in spelling, punctuation and
e make few if any mistakes in spelling, grammar.
punctuation and grammar
QWC1 Presents material in a coherent and
QWC1: Candidates will be expected to logical manner but with some errors in use of
e present work clearly which is mostly mathematical form, spelling, punctuation or
relevant, with words explaining grammar
process or steps OR
OR evident weaknesses in organisation of material
o make few if any mistakes in spelling, but using acceptable mathematical form, with
punctuation and grammar and include few if any errors in spelling, punctuation and
units in their final answer grammar.
QWCO Evident weaknesses in organisation of
material, and errors in use of mathematical
form, spelling, punctuation or grammar.
6
10







6. (a) 67/100 x 234 M1 Or equivalent
=(£) 156.78 Al
(b) 2/11 x 242 M1 Or equivalent
=44 (g) Al
(c) For 2 correct in a form which allows Bl
comparison
For all 3 correct in a form which allows Bl Eg 1M = 25% = 0.25
comparison
24%, ¥4, 0.3 B1
7
Or equivalent
Answer only gets BO, BO, B1
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June 2014 Unit 2 Foundation Tier Mark Comments
7. (a) 20/4 or 5¢cm Bl
5x5 M1
25 Al
cm? Ul Independent of other marks
(b) (0.6 x1.1)/20OR (60 x 110)/ 2 M1
0.33(m?) A2 Al for 3300(cm?) or 0.66/2 or 0.3x1.1 or
0.6x0.55
(c) 4x4x4 M1 Alternative method:
64 (cmd) Al 4x4 M1
64 /(8x4) or 32h=64 M1 16 (cm?) Al
2 (cm) Al 16/8 M1
2 (cm) Al
(d) 2m x 20 or T x 40 M1
125.6(637...cm) to 125.7(2...cm) Al Accept 126
13
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9. (a) Listing multiples of 0.3 or 0.4, including
at least one between 8 and 9.

8.4

(b) 11.008854.....
11.01

(c) 3000

(d) 0.063
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OR listing multiples of 3 or 4 including at least
one between 80 and 90 with the intention to
then insert the decimal point.

Award S1B1 for unsupported 8.4
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